IN THE UNITED STATES DISTRICT COURT FOR THE WESTERN DISTRICT OF PENNSYLVANIA

IN RE: RAILWAY INDUSTRY)	Master Docket Misc. No. 18-798
EMPLOYEE NO-POACH ANTITRUST)	
LITIGATION)	MDL No. 2850J
)	
This Document Relates to:)	
ALL ACTIONS)	

DECLARATION OF JOSEPH H. MELTZER IN SUPPORT OF CLASS COUNSEL'S MOTION FOR ATTORNEY'S FEES, COSTS AND SERVICE AWARDS

I, Joseph H. Meltzer, declare as follows:

- 1. I am a Partner of Kessler Topaz Meltzer & Check, LLP (the "Firm"). I submit this declaration in support of Class Counsel's motion for attorneys' fees, costs, and service awards. The time expended in preparing this declaration is not included in the motion for attorneys' fees.
- 2. KTMC has a nationwide reputation for excellence and is able to manage all aspects of complex class action litigation including expertise in antitrust litigation. Acknowledging the firm's history and track record of impressive results, courts across the country have not hesitated to appoint KTMC as class counsel in antitrust class actions. *See e.g., In re Loestrin 24 Fe Antitrust Litig.*, 13-md-2472 (D.R.I.).
- 3. I have reviewed the Court's November 6, 2018 Order Appointing Interim Lead Class Counsel (Dkt. 106) ("Order"), including in particular the Order's provisions regarding fees, costs, and expenses. The Firm has adhered to those provisions and to guidance received throughout the litigation from Class Counsel regarding timekeeping and expense reporting.

- 4. During the course of this litigation, the Firm has been involved in the following activities on behalf of the Settlement Class at the request and under the direction of interim lead class counsel ("Lead Counsel"):
 - Interviewing clients and submitting questionnaires for consideration as potential class representatives; and
 - Factual investigation and development of confidential witnesses to assist Lead
 Counsel with preparing a consolidated complaint.
- 5. Summary of Time and Expenses. During the course of this litigation, the Firm performed 58.1 hours of work in connection with this litigation for the benefit of the Settlement Fund. Based upon the Firm's hourly rates in effect through December 31, 2019, the lodestar value of the time is \$31,232.50. The chart below indicates the attorneys and paralegals at my firm who worked on this litigation, the number of hours worked, and their respective lodestar values and hourly rates. This information was based on contemporaneous, daily time records regularly prepared and maintained by the Firm, as provided to, reviewed and approved by Lead Counsel.

<u>Timekeeper</u>	<u>Hours</u>	<u>Hourly</u> <u>Rate</u>	Lodestar
Kimberly Justice (Partner)	22.9	\$850.00	\$19,465.00
Joseph Meltzer (Partner)	0.4	\$850.00	\$340.00
James A. Maro (Partner)	0.3	\$775.00	\$232.50
William Monks (Investigator)	6.7	\$450.00	\$3,015.00
Zachary Arbitman (Associate)	0.3	\$450.00	\$135.00
Kevin Kane Investigator)	22.9	\$300.00	\$6,870.00

Caitlyn McMenamin (Investigator)	1.0	\$275.00	\$275.00
Julie Wotring (Paralegal)	3.0	\$250.00	\$750.00
Lacey Russo (Paralegal)	0.6	\$250.00	\$150.00
Totals:	58.1		\$31,232.50

- 6. All of the services performed by the Firm in connection with this litigation and described above were reasonably necessary in the prosecution of this case. There has been no unnecessary duplication of services for which the Firm now seeks compensation. The lodestar calculations exclude time spent reading or reviewing work prepared by others or other information concerning this case unless related to preparation for, or work on, a matter specifically assigned to the Firm by Class Counsel. The rates at which the Firm seeks compensation are its usual and customary hourly rates charged for similar work.
- 7. During the course of this litigation, the Firm incurred expenses in the sum of \$1,810.78. These expenses were reasonably and necessarily incurred in connection with this litigation and are summarized in the chart below. Expense documentation has been provided to Lead Counsel for audit and review.

<u>DESCRIPTION</u>		AMOUNT	
Internal Reproduction / Copies	\$	86.40	
Computer Research	\$	486.79	
Postage/Express Delivery/Messenger	\$	34.81	
Ground Transportation	\$	602.55	
Meals	\$	84.57	
Lodging	\$	515.66	
TOTAL EXPENSES:		\$1,810.78	

8. The expenses incurred are reflected on the books and records of the Firm. These books and records are prepared from checks and expense vouchers that are regularly kept and maintained by the Firm and accurately reflect the expenses incurred.

Case 2:18-mc-00798-JFC Document 290 Filed 05/04/20 Page 4 of 4

9. This Firm has not received any compensation for the services rendered on behalf

of the Class, and any such compensation is wholly contingent on the Court's approval of Class

Counsel's motion for attorney's fees. My firm has devoted substantial time and resources to this

matter, and for that reason has foregone other legal work for which it would have been

compensated.

I declare under penalty of perjury under the laws of the United States that the foregoing is

true and correct to the best of my knowledge, and that this declaration was executed in Ambler,

Pennsylvania on May 3, 2020.

By: /s/ Joseph H. Meltzer

Joseph H. Meltzer

4